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1. RO BEER 7.12300 0 7.24100 14.36400

2. RS BEERR 28.07500 0 28.19300 56.26800
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1. RO BEERT

BREBEA BIREB AREC
X & IH B AEEE B {1
it it it E it ! )
1. ZEHR—IL BEEKR 197 m| B 1 [E |[100m-[q 197 m.”100m X 250 [B] /& x 0.000 197 m.~100m X 250 [B]. 7% x 0.000
MR 593 m | 2 [E [100m-[E]| 593 m.”100mn X 102 [A] /£ X 0.000 593 m.”100m X 102 [B] /4 X 0.000
2. ERE-RBE
ik #E PR 86 m |8 2 [ [100m [ 86 m.”100m x 102 [A] /% x 0.000 86 m.”100m x 102 [B]. 7 4F X 0.000
MR 153 m | 5B 2 [@ |[100m:-[E| 153 m.~100m X 102 [A] /% x 0.000 153 m.~100m X 102 [B]. 7 4F X 0.000
3. BT
i #E PR om
4. BERRRUEERT |FEERK 47 m | B 1 [E [100m-[ 47 m.”100m x 250 [A], 7% x 0.000 47 m.”100m x 250 [A] /4 x 0.000
5. ZHE SE 4 R 36 m|@ 1 [ [100m:-[E 36 m.”100m x 51 [@] /& x 0.000 36 m.”100m X 51 [B] /& x 0.000
6. FEER 4 R 49 m|@A 2 [ [100m:-[E 49 m,/100m X 102 [B] /£ X 0.000 49 m,/100m X 102 [|@ 4 X 0.000
7. TILR—%4— BEK 1 B 2 [@ a 1 X 102 [B].7 £ X 0.000 1 X 102 [A], /£ x 0.000
B 1,161 m 7.123 0.000 7.241




2. RSO BEER

AREA AREB BRREC
X 7 IHE B BRER =_F{va

! &t iR &t it R Hi

1. KE®R—IL 197 m | B 1 [ [100m-[E| 197 m.~100m x 250 [B]. 74 % 0.000 197 m.~100m X 250 [B] /£ % 0.000
2 EHE-REE 679 m (B 2 [@ |[10Om-[E| 678 m.~100m X 102 [B] /£ x 0.000 678 m.”100m X 102 [@]. £ x 0.000
3. BBTF-R—IL 153 m |8 2 [ [100m-@E| 152 m.”100m X 102 Bl /4 x 0.000 152 m.”100m X 102 [@] /£ x 0.000
4. BRARUBEERRT 47 m | B 1 [E |100m-[E 47 m./100m x 250 [B] 4 X 0.000 47 m./100m x 250 [B] 4 X 0.000
5. ZHE 36 m | 1 [@ [100m-[E 36 m.”100m x 51 [@] /4 x 0.000 36 m.”100m x 51 [B] /% X 0.000
6. BEEY 49 m | A 2 [@E [100m-[E 47 m.”100m x 102 B~ 4 x 0.000 47 m.”100m x 102 [@] /£ x 0.000
7. ILR—4— 1 B 2 [ a 1 x 102 [B] /4 x 0.000 1 % 102 [Bl7 4 X 0.000
5 1,162 m 28.075 0.000 28.193




3. KEIEE

BREA AREB WmEC
X % IHE B BRRER| B
it R Hi it R Hi it R H
1. KE®R—IL 197 B 1 [E [100m-E| 197 m.~100m X 250 [B] 74 % 0.000 197 m.~100m X 250 [B] /£ x 0.000
2. BT 153 B 2 | [100m-El| 153 m.“100m X 102 B/ 4 x 0.000 153 m.~100m x 102 [B] /£ x 0.000
3. ERT R U EMEFR 47 B 1@ [100m-E 47 m./100m x 250 [B] 4 x 0.000 47 m./100m x 250 [B] /4 X 0.000
4. ZHE 36 # 1 @ [100m-[H] 36 m.”100m x 51 [@] /4 x 0.000 36 m.~100m x 51 [@] 74 x 0.000
5. TILAR—4— 1 # 2 [ =) 1 % 102 [B] /4 x 0.000 1 % 102 [B]7 4 X 0.000
B 434 16.723 0.000 16.741




4—1. ROERFR

AREA mEB BC
X & 5 B ARE B {1
it OB B it 5 it OE B
1. ZREHR—IL 197 m | 3»8 1 [ [100m-E| 197 m.~100m x 4 [B] /4 x 0.000| 197 m.100m x 4 [B] /4 x 0.000 [ 197 m.~100m x 4 [|B] /4 x 0.000
2. BEHRE-SBE 503 m| 38 1 [E [100m-E| 592 m.”100m x 4 @5 x 0.000 | 592 m.”100m x 4 [A] /% x 0.000| 592 m.”100m X 4 [@, % x 0.000
3. BRF-7k—JL 153 m | 38 1 [E [100m-[E]| 152 m.”100m X 4 [B] /4 x 0.000 152 m.”100m X 4 [B] /4 x 0.000| 152 m.”100m x 4 [8] /4 x 0.000
4. ERTRUEERT 47 m| 38 1 [E [100m [ 47 m./100m x 4 [B] /4 x 0.000 47 m./100m X 4 [|B] /4 x 0.000 47 m./100m x 4 [a] /4 x 0.000
5. GHE 36 m| 38 1 [E [100m-[E 36 m.”100m X 4 [B] /4 x 0.000 36 m.”100m X 4 [@] /% x 0.000 36 m.”100m x 4 [B] /4 x 0.000
6. FMEEX 49 m| 38 1 [H [100m-[H 47 m,/100m X 4 [B] /4 x 0.000 47 m./100m x 4 [B] /4 % 0.000 47 m,”100m X 4 [B] 4 x 0.000
7. ILR—4— 1 3B 1 [ & 1 x 4 B, 5 x 0.000 1 x 4 @], 4 x 0.000 1 x 4 [|] /4 x 0.000
E 1076 m 3.421 6.841 7.457
h= = |
4—2. KOFEIAE IR (HHEK)
e = i{ﬁ = 4= =
X 7 I AR A 5 &
1. ZEAR—IL om
2. ERE-SEBE 86 m £ 2 [E 145 86 m x 2 [EI/FEx 145 | 24,940 %W 20 10 P875
3. T om

24,940
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5. ZHUNEE
AREA BREB AREC
X % IE H AREER B
B! &t B! &t B! H
1. EW-95-1RE 1,161 m é 1 @ |100m-[q] 0.000 0.000 | 1,161 m.~100m X 125 [A] /£ x 0.000
H 1,161 m 0.000 0.000 8.708




6. BHSRER

X % RmEE aéﬂg # =t
1. 1B (Mm) 26 12
2. 2B (M) 21 12
1. 3k (@) 24 12
= 71 m
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7. B ERiE
BREA AfREB AREC
X & H H ERE# ==X
it OE =t B! =t iOE it
1. BYSNERER 490 m |8 1 [@ |[100m [ 0.000 | 490 m.”100m X 51 |4 x 0.000 0.000
0.000
B 490 m 0.000 1.499 0.000




